

## Meeting Date: August 14, 2017 Agenda Item No:

#### **Kitsap County Board of Commissioners**

Office/Department: Public Works, Solid Waste Division

**Staff Contact & Phone Number:** Pat Campbell, Senior Program Manager, 360-337-4626 **Agenda Item Title:** Contract Amendment KC-146-15B with Clean Harbors Environmental Services for Moderate Risk Waste Transportation and Management Services for 2017 Mobile Collection Event

**Recommended Action:** Motion to Execute Contract Amendment KC-146-15B with Clean Harbors Environmental Services for Moderate Risk Waste Transportation and Management Services for 2017 Mobile Collection Event

#### Summary:

Kitsap County operates a permanent Household Hazardous Waste (HHW) Collection Facility for the collection and proper management of HHW from residents in Kitsap and Mason Counties. In an effort to service more residents in the North end of the county, periodic one-time, off-site Mobile Collection Events are offered to collect limited household hazardous waste items. Clean Harbors Environmental Services, Inc. provides Moderate Risk Waste Transportation and Management Services for materials collected during Mobile Collection Events. This is the second of four annual renewal options provided for in the original contract.

Attachments:

1. Contract Amendment KC-146-15B (three originals to be signed)

Fiscal Impact for this Specific Action						
Expenditure required for this specific action: \$ 25,000.00 not to exceed						
Related Revenue for this specific action:	\$ 0.00					
Cost Savings for this specific action: N/A						
Net Fiscal Impact:	\$ 25,000.00 not to exceed					
Source of Funds:	Public Works Solid Waste					
Fiscal Impact for Total Project						
Project Costs: \$85,000.00 not to exceed						
Project Costs Savings:	N/A					
Project Related Revenue:	\$ 0.00					
Project Net Total:	\$ 85,000.00 not to exceed					

#### Fiscal Impact (DAS) Review

See attached Contract Review Sheet

See attached Contract Neview Sheet							
	Dep	oartmental/Office	Review & Coord	inat	ion		
Department/Office Department Director							
Public Works		Andrew Nelson/Stella V. Vakarcs					
Contract Information							
Contract Number	Con	e Original tract or endment	Amount of Origi Contract Amendment	nal	Total Amount of Amended Contract		

Contract Number	Contract or Amendment Approved	Contract Amendment	Amended Contract
KC-145-15	June 22, 2015	\$ 35,000.00	
KC-145-15A	August 8, 2016	\$ 25,000.00	\$ 60,000.00
KC-145-15B		\$ 25,000.00	\$ 85,000.00



# Kitsap County CONTRACT REVIEW SHEET

(Chapter 3.56 KCC)

A. GENERAL INFORMATION		
Contractor Clean Harbor Environmental Services		
Purpose	1anagen	nent Services for 2017
Mobile Collection Event		
3. Contract Amount Original Contract: \$35,000 Previous Amendment: \$25,000 Current Amendment: \$25,000 Total Contract: \$85,000	X	Receive
4. Contract Term August 1, 2017 to July 31, 2018, with 2	2 annual	I renewal options
<ol><li>Contract Administrator Pat Campbell, Senior Program Ma</li></ol>	anager	Phone 360-337-4626
Approved:	Date	
Department Director		
B. AUDITOR – ACCOUNTING INFORMATION		
Contract Control Number KC-146-15B		
2. Fund Name Public Works Solid	d Waste	
Payment from-Revenue to CC/Account Nbr		5477.24
4. Encumbered By Dean G. Brown	Date	7/24/17
C. AUDITOR'S ACCOUNTING – GRANTS REVIEW		
Signature required only if contract is grant funded		
1. Approved Not Approved		
Reviewer	Date	
2. Comments: N/A		
D. ADMINISTRATIVE SERVICES DEPARTMENT – RISK MAN	AGER E	REVIEW
	AOLITI	VE VIEVV
1. X Approved Not Approved Reviewer Timothy M. Perez	Date	7/25/2017
2. Comments: Amendment Only	Date	1123/2011
E. ADMINISTRATIVE SERVICES DEPARTMENT – BUDGET C	EFICE	DEVIEW
	FFICE	REVIEW
1. X Approved Not Approved		07/04/0047
Reviewer Kristofer Carlson	Date	07/24/2017
2. Comments:		
F. PERSONNEL DEPARTMENT – PERSONNEL DIRECTOR R	REVIEW	
Signature required only if union or employment contract		
G. PROSECUTING ATTORNEY REVIEW		
1. X Approved as to Form Not Approved as	s to Forr	m
Reviewer Lisa Nickel	Date	07/26/17
2. Comments:		
H. CERTIFICATION BY CONTRACT ADMINISTRATOR: THIS READY FOR CONSIDERATION BY THE AUTHORIZED CO (For contract signing authority, see KCC 3.56.075)		
Contract Administrator Paleura Manufell	Date	1/3/17
Date Approved by Authorized Contract Signer:	Date	
RETURN SIGNED ORIGINALS TO:		arsha Richards @ MS #27
TETORIA SIGNED ORIGINALS TO.	IVI	arəna Michalus (W IVIƏ #2/

#### CONTRACT AMENDMENT

This Contract Amendment is made and entered into between Kitsap County, a municipal corporation, with its principal offices at 614 Division Street, Port Orchard, Washington 98366, hereinafter "County", and Clean Harbors Environmental Services, Inc., having its principal offices at 26328 79<sup>th</sup> Avenue South, Kent, Washington 98032, hereinafter "Contractor."

In consideration of the mutual benefits and covenants contained herein, the parties agree that their Contract, numbered as Kitsap County Contract No. <u>KC-146-15</u>, and executed on <u>June 22</u>, <u>2015</u>, and amended by Kitsap County Contract Amendment No. KC-146-15A, and executed on August 8, 2016, shall be further amended as follows:

- 1. This Contract Amendment will become effective on August 1, 2017 and expire on July 31, 2018, with two (2) annual renewal options remaining on the original contract term. In no event will the Contract Amendment become effective unless and until it is approved and executed by the duly authorized representative of Kitsap County.
- 2. A description of the compensation to be paid to the Contractor under this Amendment is set forth in Exhibit A: Compensation, which is attached to this Contract Amendment and incorporated by this reference.
- 3. The total amount payable under this Contract Amendment by the County to the Contractor in no event will exceed total compensation of \$25,000.00, unless a Contract Amendment has been negotiated and executed prior to the County incurring any costs in excess of the maximum payable amount. This increases the total compensation under this contract to an amount not to exceed \$85,000.00.
- 4. If this Contract Amendment extends the expiration date of the Contract, then the Contractor shall provide an updated certificate of insurance evidencing that any required insurance coverages are in effect through the new contract expiration date. The Contractor shall submit the certificate of insurance to: Kitsap County Risk Management Division, 614 Division Street, MS-7, Port Orchard, Washington 98366.
- 5. Except as expressly provided in this Contract Amendment, all other terms and conditions of the original Contract, and any subsequent amendments, addenda or modifications thereto, remain in full force and effect.

This amendment shall be effective upon execution by the parties.

DATED this 31 day of July, 2017	DATED this day of, 2017
CLEAN HARBORS ENVIORNMENTAL SERVICES	BOARD OF COUNTY COMMISSIONERS KITSAP COUNTY, WASHINGTON
Signature Reynolds	CHARLOTTE GARRIDO, Chair
Printed Name	ROBERT GELDER, Commissioner
Title Technical Services	EDWARD E. WOLFE, Commissioner
<u>D</u> 4-2698999 Federal Tax ID No.	ATTEST:
Contractor Registration No.	Dana Daniels, Clerk of the Board

Approved as to form by the Prosecuting Attorney's Office

## **EXHIBIT A: COMPENSATION**

The price paid to the Contractor for materials collected by the Contractor during mobile collection events shall be paid as follows:

### **WASTE PRICE LIST**

		OTET MOE EIGT		EST.	l l			
ITEM DESCRIPTION	MANAGEMENT METHOD	NOTES	CH WCC	ANNUAL QTY	UNIT PRICE	TOTAL COST		
Acids (Liquid and Solid)								
55 gallon drum lab packed	RCRA Incineration		LCCRA	55	\$152.50	\$8,387.50		
5 gallon drum lab packed	RCRA Incineration		LCCRA	1	\$47.25	\$47.25		
10 gallon drum lab packed	RCRA Incineration		LCCRA	1	\$91.50	\$91.50		
55 gallon drum bulk	RCRA Incineration		B26A/B22	1	\$210.00	\$210.00		
55 gallon drum bulk	RCRA Incineration		CCRC	1	\$210.00	\$210.00		
Glacial Acetic acid 5 gallon lab pack	Incinerate or Treat-POTW		LCCRA	1	\$47.25	\$47.25		
Glacial Acetic acid 10 gallon lab pack	Incinerate or Treat-POTW		LCCRA	1	\$91.50	\$91.50		
Hydrofluoric acid - 5 gallon lab pack	Incinerate or Treat-POTW		LCCRA	1	\$47.50	\$47.50		
Hydrofluoric acid - 10 gallon lab pack	Incinerate or Treat-POTW		LCCRA	1	\$91.50	\$91.50		
Aerosols – Paint and Paint Relate								
55 gallon drum loosepack	RCRA Incineration		LCCRQ	1	\$145.00	\$145.00		
cubic yard box	RCRA Incineration		LCCRQ	20	\$483.00	\$9,660.00		
Aerosols – Pesticide, Corrosive								
55 gallon drum loosepack	Incinerate		LCCRQ	40	\$145.00	\$5,800.00		
cubic yard box	Incinerate		LCCRQ	1	\$483.00	\$483.00		
Alkaline Batteries								
55 gallon drum loosepack	Recycle		LBD1	50	\$400.00	\$20,000.00		
55 gallon drum loosepack	Landfill		CNO	50	\$95.00	\$4,750.00		
Antifreeze			_					
55 gallon drum bulk	Recycle		B35	15	\$75.00	\$1,125.00		
Used Motor Oil – Uncontaminate								
55 gallon drum bulk	Recycle or Energy Recovery		A31	1	\$106.00	\$106.00		
350 gallon tank	Recycle or Energy Recovery		A31	20	\$258.00	\$5,160.00		
Used Motor Oil with non-PCB Ch		<u>lene chloride)</u>						
55 gallon drum bulk	Incineration or Energy Recovery		A40 or FB1	1	\$140.00	\$140.00		
350 gallon tank	Incineration or Energy Recovery	Based on 350g or less tote	A40 or FB1	1	\$550.00	\$550.00		
Used Motor Oil with PCB's								
55 gallon drum	TSCA Incinerate		DH3	1	\$400.00	\$400.00		
350 gallon tank	TSCA Incinerate	Based on 350g or less tote	DH3	1	\$1,050.00	\$1,050.00		
Carbon Zinc Batteries								
55 gallon drum loosepack	Landfill		CNO	10	\$95.00	\$950.00		
Alkaline (liquid and solids)								
55 gallon drum lab pack	RCRA Incineration		LCCRB	65	\$152.50	\$9,912.50		
5 gallon drum lab pack	RCRA Incineration		LCCRB	1	\$47.25	\$47.25		
10 gallon drum lab pack	RCRA Incineration		LCCRB	1	\$91.50	\$91.50		
55 gallon drum bulk	Treat-POTW		B26B	35	\$210.00	\$7,350.00		
55 gallon drum bulk	RCRA Incineration		CCRC	35	\$210.00	\$7,350.00		
Compressed Gas Flammable Cyl	linders, under 1.5 liters (camp		gas)					
55 gallon drum loosepack	Recycle	Up to 90 cylinders per 55g drum	LCY1	20	\$378.00	\$7,560.00		
Flammable Solids-4.1								
55 gallon drum loosepack	RCRA Incineration	Non-reactive, non PRM Flam Solids	LCCRD	2	\$152.50	\$305.00		
5 gallon drum loosepack	RCRA Incineration	Non-reactive, non PRM Flam Solids	LCCRD	2	\$47.25	\$94.50		
5 gallon drum loosepack	RCRA Incineration	Reactives class 4.1 (assuming 30 lbs.)	LRCT/D	2	\$126.00	\$252.00		
Reactives (4.2, 4.3)		00 100.)						
55 gallon drum lab pack	Incinerate		LRCT	1	\$420.00	\$420.00		
5 gallon drum labpack	Incinerate		LRCT	1	\$126.00	\$126.00		
10 gallon drum labpack	Incinerate		LRCT	6	\$210.00	\$1,260.00		
Oxidizers								
55 gallon drum labpack	Treat-POTW or Incinerate		LAT-O/LCCRO	3	\$194.50	\$583.50		
5 gallon drum labpack	Treat-POTW or Incinerate		LAT-O/LCCRO	8	\$58.25	\$466.00		
10 gallon drum labpack	Treat-POTW or Incinerate		LAT-O/LCCRO	15	\$116.50	\$1,747.50		
55 gallon drum bulk	Treat-POTW or Incinerate		B28/B28I	1	\$220.00	\$220.00		
Organic Peroxides								
5 gallon drum labpack 10 gallon drum labpack	Incinerate Incinerate	Up to 30lbs per 5g labpack Up to 40lbs per 10g labpack	LRCTO LRCTO	1	\$126.00 \$210.00	\$126.00 \$210.00		

## **WASTE PRICE LIST**

WASTE PRICE LIST							
ITEM DESCRIPTION	MANAGEMENT METHOD	NOTES	сн wсс	EST. ANNUAL QTY	UNIT PRICE	TOTAL COST	
Latex Paint – "Good"							
55 gallon drum loosepack	Recycle		LFB3	1	\$170.00	\$170.00	
Cubic Yard box loosepack	Recycle		LFB3	1	\$525.00	\$525.00	
55 gallon drum loosepack	Fuels Incinerate		LPTP/N	1	\$110.25	\$110.25	
Cubic Yard box loosepack	Fuels Incinerate		LPTP/N	1	\$315.00	\$315.00	
Latex Paint – "Bad"							
55 gallon drum loosepack	Landfill		CNOS	1	\$95.00	\$95.00	
Cubic Yard box loosepack	Landfill		CNOS	1	\$332.50	\$332.50	
55 gallon drum bulk	Landfill		CNOS	370	\$87.00	\$32,190.00	
55 gallon drum bulk	Beneficial Reuse		FB3R	370	\$260.00	\$96,200.00	
Oil Based Paint/Paint Related	Material				, ,		
55 gallon drum loosepack	Energy Recovery, if possible	Fuels Incineration, if not processable	LPTP/N	630	\$105.00	\$66,150.00	
Cubic Yard box loosepack	Energy Recovery, if possible	Fuels Incineration, if not processable	LPTP/N	65	\$300.00	\$19,500.00	
55 gallon drum bulk	Energy Recovery, if possible	Fuels Incineration, if not processable	FB3E (FB2/FB3)	1	\$120.00	\$120.00	
Non-Chlorinated Mixed Flamm	able Liquids (gasoline, paint th	inner, solvents, etc.)					
55 gallon drum loosepack	Energy Recovery, if waste meets recovery specs	Fuels Incineration, if does not meet energy recovery	LFB1E/LFB1	1	\$135.00	\$135.00	
55 gallon drum bulk	Energy Recovery, if waste meets recovery specs	Fuels Incineration, if does not meet energy recovery	FB1E/FB1	230	\$69.00	\$15,870.00	
Pesticide Solids	, , . , . , . ,						
55 gallon drum loosepack	Incinerate	I	LCCR	65	\$152.50	\$9,912.50	
5 gallon drum loosepack	Incinerate		LCCR	1	\$47.25	\$47.25	
10 gallon drum loosepack	Incinerate		LCCR	1	\$91.50	\$91.50	
Cubic Yard box loosepack	Incinerate		LCCR	1	\$496.00	\$496.00	
Pesticide/Chlorinated Liquids							
55 gallon drum labpack	Incinerate		LCCR	175	\$152.50	\$26,687.50	
5 gallon drum labpack	Incinerate		LCCR	1	\$47.25	\$47.25	
10 gallon drum labpack	Incinerate		LCCR	1	\$91.50	\$91.50	
PCB Light Ballasts, non-leaking	ng						
55 gallon drum loosepack	Hazardous Waste Landfill		CHBL	6	\$45.00	\$270.00	
55 gallon drum loosepack	Recycle/Incinerate		CHBL	1	\$130.00	\$130.00	
5 gallon drum loosepack	Hazardous Waste Landfill		CHBD/CHSI	1	\$97.50	\$97.50	
5 gallon drum loosepack	Recycle/Incinerate		CHBD/CHSI	1	\$325.00	\$325.00	
PCB Light Ballasts, leaking							
55 gallon drum loosepack	TSCA Incineration		CHBI	1	\$348.00	\$348.00	
5 gallon drum loosepack	TSCA Incineration		CHBI	1	\$105.00	\$105.00	
PCB Liquids >50 ppm							
55 gallon drum bulk	TSCA Incineration		DH4	1	\$400.00	\$400.00	
5 gallon drum loosepack	TSCA Incineration		DH4	1	\$120.00	\$120.00	
Elemental Mercury							
5 gallon drum loosepack	Sequestration		LCHG2	1	\$346.50	\$346.50	
Mercury Debris				_			
5 gallon drum loosepack	Retort		CHG2	1	\$330.00	\$330.00	
10 gallon drum loosepack	Retort		CHG2	5	\$497.00	\$2,485.00	
55 gallon drum loosepack	Retort		CHG2	1	\$1,103.00	\$1,103.00	
Mercury Compounds		1	01104		000000	Φ000 00	
5 gallon drum loosepack	Retort		CHG4	1	\$330.00	\$330.00	
10 gallon drum loosepack	Retort		CHG4	1	\$497.00	\$497.00	
Rechargeable Batteries		1	LIDDO	1 .	040000	<b>M</b> 400.05	
5 gallon drum loosepack	Recycle		LBD2	1	\$100.00	\$100.00	
55 gallon drum loosepack  Lithium Batteries	Recycle		LBD2	1	\$552.00	\$552.00	
5 gallon drum loosepack	Recycle or Incinerate	Actual rate: \$3/lb. based on 60	LBBGB	1	\$299.00	\$299.00	
55 gallon drum loosepack	Recycle or Incinerate	lbs. per 5g drum Actual rate: \$3/lb. based on	LBRR	2	\$1,950.00	\$3,900.00	
Non-RCRA Liquids (oily water	•	650 lbs. per 55g drum			ψ1,000.00	ψ0,000.00	
55 gallon drum, bulk	Treat/POTW		B34/A32	20	\$125.00	\$2,500.00	
55 gallon drum, bulk	Landfill		CNOS	20	\$95.00	\$1,900.00	
Non-RCRA Solids (contaminat							
55 gallon drum, bulk	Stabilize/Landfill		CNO	6	\$95.00	\$570.00	
Cubic Yard box	Stabilize/Landfill		CNO	1	\$332.50	\$332.50	
<del></del>		1			, , , , , , , ,	Ţ <b></b>	

## ADDITIONAL WASTE STREAMS AND ALTERNATIVE PACKING AND/OR MANAGEMENT METHODS

ITEM DESCRIPTION	MANAGEMENT METHOD	NOTES	сн wсс	EST. ANNUAL QTY	UNIT PRICE	TOTAL COST
Marine Flares	RCRA Incineration	Pack in 5g pails submerged in water with no more than 3g of water.	A99X	1	\$900.00	
Pharmaceuticals/ Medications	RCRA Incineration	Rate per lbs.	RXHZ	1	\$1.38	